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Instructions

. Write your answers in the space provided 'on the question sheet
2. Use the bagk pages for rough work

3. There age MI]“HIIE choioe and Trie ! False fuestions worth a total nf
20 pits.

4. There age 3 subjective problems weith o total of 57 s,
5. Pages 6 and & arc leftintemt icnally blank,

fi. There is NO correlation between the space provided for each
problem and the spage needed. If vou nedtl more space write
on the back and clearly indicate that you ljld,e;u
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6. Every TCP connection has to have al ||¥1 MMHH‘HI. with the one
bit Beled A in the header is set Lo one
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11. The receive winglow in the TCP header is wsed fog
(a) Congestion control
@J Flow contol
[} Error conkrol
{d) Connection control
(&) MNone of the above

12 HTTP iz a stateless protocol




(b) The nume is & domain
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16. IF the type of 8 DNS record i MX then
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(a) The name is & host ¥ pdclress
(b} The nume is & domain sl value 15 8
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17. DNS records have threc fields: nan,
DNS record is NS then
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18. The key word POST is s in
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(b) POP3
{c) SMTP
{d) DNS
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1. (36pts)A sender having window slm@-tmmniu at 1 million bits per

T L second. The packet size is 1000 bits and the round trip time betwoen
AT = hms  nder and receiver is 4 ms. The sender starts o timer for a packet when
T =8ms it Tinishes transmitting it and uses a timeout periad of 8 ms. The
receiver sends an acknowledgement immediately after it receves the

pon o acknowledgements

last bit of & packet. Assume that the transimniss
takes Oms, the sender needs to aomed 0 total of SR00Lbits amel the first

bit is transmitted at t=0 Thiz |:|:'|.r1m-||] in use is GHN
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{a) How many hits are sent before the sender receives the first ac-

knowledgemeit

(b) At what time the Insbolifl arrives at the receiver if 1
Inst.

{e) At what time the last Bit arnves at the peceiver if only one liss
occurs (padkst mumbering starts at ), the first transmission of
packet mumber 2

{d) What isthe total mumber of tranginitted pagkets in 1b and le

i packet is

(e) redo _11}.. le and 1d in the case of sender @nd receiver using a
pebective repeat protoool, |
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(a) Dnuring which imerval is slow start Operabing, [ 2, 'EJ

(b} During which interval is congestion avoidance is oporating, [ l ) H:?lj -~
(c) According to the plot, what is the theeshold? 3.0

(d) Suppose that & packet Toss, due to a timeous
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s e gment 19 3¢ - 18
z 2 b

round, what is the new threshold? prews & .
() Wha is the window size at the 11 th réund?
(F) Can & packet loss be detected beford’s T
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a (15ptaitlost X and Y are exchanging data using s TCT conpoction

'I'--*" Baoih hostas gse 5 Liimesk period of 2 seconds. AL L=i) hist ¥ menils
two back-to-back segments, of size 50 and 30 bytes, o Y with U

l\_ } TCT beader of the first segrment having the following valse: FEpEEs
\ number=42, receive window=70, A-bit =1, Acknowledgement mm
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